| BFREAR B BT

& B BB R

B H G 33 £ E K 4 H & W
H60M 701 Rk 2 54AE & B K s - FHEET
H100M 1085 4 SRk 2 24 5 % o FAE . Eyprh
F200M 2154 Rk 2 5AE & B K s - FHEET
H300M 34F04 Rk 2 648 & O K s - THEET
B 400M 47F70 Rk 1 04F I NI Ker : FEA
7 4770 ok 2 6 4F & 7 % K e TRaThHE
H800OM 1557789 SRk 3 04F e B Sk # BN )1
H1500M 3435 6f07 k2 94 t B O K FHE By
5300 0M[14] 85132 Rk 2 84 + W FE K FALE . gy
B5000M 1445937 Rk 2 94 t W FE K FALE . gy
%6 0 mJH(ER) 80 8 k2 94 I & — = WV FE L KFH
6 0mH(ER) 822 k2 34 5 % o# FHE - By
$110mH 14789 2 04 5 % fno# FHES . B8 (2EE 181D
I 14F4 4 PRk 2 14 5 % & FRES . Egp
H110mJH 1421 SERK 2 247 5 % fn # FEHE . Biggrh
H400mH 51827 S ot 4R & H FE Ak FRHER - Egprh
#H3000mSC 9432 2F6 5 TR 14 " O E A - BgFneh
H3000mW 1844 9%10 BRTTE oOR FOK PUE - FEh
2 V- E Ak
s o = M e drp
G R FHOE : Bgprh
L—=T T VLYoo= | IR BRREE
22} AN N DAy gL i A - Hurh
HA4X400mR 34715800 Sk 2 84 FENTTR s EE - IO
& — = SUWVEFE - KEH
Brmk 2mo0 8 TR 2 64F e e — e - Rash
T ek 7m4 8 Rk B4R H % W N H
= Bk 14m10 PRk 2 84 L—=T T VLYoo= | IR BRREE
Btk (5. 45K g) 15mb53 Rk 1 74E B & JE FALS : Bah
Bhaa (6.0Kg) 14m6 2 (EiERiey k1 84 Ao A FHER : A
B (7. 26Kg) 12m6 1 Sk 1 84F B & JE FRER « firh
Bk (1. 5K g) 46m44 SRk 64F NOR FE A B miE
Hom 1. 75Kg) 37m80 R 2 O4ERE WO E R )l : )R
BHAE 2. 0K g) 36m59 YRkl 54 o — K B B
B0 # 60m4 8 Rk 84 oW R FRE : gt
BNy ~o— P 40m26 SRR TR W F FRES . B
5 )\ Fiigis 52735 PRk 1 64F Er AR H K FHE : KEt
5 )\FEigtt Criiks) H18 559 7 (BEREN Rk 2 94 I # — = SV F  KJEH
______ LoMs | 34Tis | mAveE | @ f | e emed ]
Z100M 1186 SRR 2 64 T O OE EhN - wiErm A
Z7200M 24F19 SRR 2 64 O O OE TN« wiprm
#400M 5583 Rk 2 84 = B FE A& HRE -
Z800M 2431 2728 SERK 3 04F Nk fE KE : =kE
#1500M 4452 3%10 Rk 2 44 oI 3T #E g . =
#3000M 9431 9895 SRR 2 6 4F eIl 3 % ES
46 OmH (EER) 8¥6 5 SRR 2 44F JIl = | FE B rpgrh
#%100mH 13890 Rk 2 64 JII £ m A& s pgep
#%400mH 61827 SRk 2 54 JII B m A& s pgep
EHEEE [ G
N NIARY %\ Bﬂ ﬂ% E Ejjué‘jjqu
ﬁ4><100mR 47*}50 :4:52254;'5 H&J _;,—_ 7][] %§ ?‘g’?ﬁ\fg—qj
E B B =E B . BT
B B H = RER - w LR
AN 7]y A=y {I H /}i‘,é % %ﬂﬂﬁ%ﬁm‘*’
#Z4X400mR 3545876 SRk 2 54 TR N 2 BUA T
3l IR | SV F U
2k 1m?72 PRk 64F Il A il £ e e
ARk 5m75 SRR 2 8 A TR B A A - b 1o
=Bk 9m9 8 R 1 34 = W i 3 FHE . FHERG
R 10m75 SRk 2 94 s | B K ] s =Fnd
PR 35m95 Sk 2 24 ok FEET FALS  EEf
o0 40m89 Rk 2 34F SO R e
LebREgE 33485 SRk 2 84 o = ) SUWVEFE AR




